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90°

120°

80°




A
NER R

Aele] Aot

A




& % ArkeiEol of

j=1

ot

6.




7. 4 9o Aol & HLolo A= 34.27kg o|AFUTE Tt E &<
5 Yol = 227417} 4 DET} 5.139kg SUSUTE 590 Alo] B
HLolo] BRAE B kg Q1A LA Q.

> E kg
> HE . 39.409kg

(599] B0l Z5A)
=(449] ¥=20]9 FFA)+5.139
= 34.27 + 5.139 = 39.409(kg)




oju

A
T
<+
oju
K
o
T
<
Xfo

oln

i
my
o|J
T
NI N
o
=
5 e}
>
X
D
T = W
T o
<A
R <k




9. TS ATEE LeadA 7 2LEe] 27k Q7] AL,

@® 10° @)20° ® 30° @ 40° ® 50°

2 2o 20°4 Uit




10. [ |stol EolZ 9w Zt 2 5L
1 |
80°
| =
> = °
> ®gh: 100°
HPAPAF L2 npE B Ho| A2 FaPsta, do|7t Lo}, £
ohE Hi zbo] 37)7} Zt
o]g3ke F Zho] §H2 180° o]t}
webA [ ]9re] 22 180° - 80° = 100° ]},




Zrt.

=
T

@u e got =

A olet

3

R

@

ol




@ AtdeElE

]_
3t Aol

@, @ ojrt.

o
—

whabA A




13. the =9 o]F

a9 gL v WMo Qo7 2
A% B 219 57)7h 2L st ot
g Et AT, ARl @ 4 gk,

Hetd AgL @, 0ol




9,]/l




AZEE Fo A  fzhdlo] AZE WHoE e, ] Wel o)t
e Y BE A0,

=

> £

> EE T A4

> =E: vlER

Zl

d

4—63, BRI, ) 8] 2 om@% Ae nhEmet
Ayt

O




14 7

14 (71)

(7T-3)x7+2=

I~
=

o] 7




(1) 3642 001°1[ ]9 5dUch
(2) 8.062>0.001° [ ] $=4Yrch,

@ (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060
® (1) 36.4 (2) 8060 @ (1) 364 (2) 806
@(1) 364 (2) 8060

~&B

(1) 3.64 = 3+ 0.64
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